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And one to include transgressions of a prohibition

Overview

The X713 concludes that there are two MW7 (or lessons) which allow us to
include 'X% *2»1 and *nin°13 *2»n among those who receive d1p from the
oIRn. It appears that one 7wA7 is not sufficient, for XY 21 and M3 20
are two separate categories (with differing levels of punishment) and
therefore require two MwA7. Our M2OIN asks that there is a third (and lesser
punishable) category, namely *wy >2»1. Seemingly this also requires a 727,
and it should be inferred from the first w27, and X% °2»1 from the second
7wA7.* There would seem to be no 7wA7 remaining for mn*3 *2»n (which is
the most severe of the prohibitions).

mooIn has a difficulty
= 1"INJ "2"'N "INNT T AW 2N MANY 0 N1 TN3KR TR 11" (2 PNt 1M1 0wpn

The 2''2%1 asked; we should still say that one lesson comes to include
those woman where the Di1X» transgresses a positive commandment (if he
has relations with her) and one lesson comes to include those women where

the 01X” transgresses a prohibitive commandment (if he has relations with her) -
- [9 NIn MA™3 30 N3N

And we still cannot derive that 017 has to be paid if one was 0I1X? a woman

where he is liable for the n9> punishment (if he has relations with her). There are
only two lessons, which allow us to include two categories of forbidden women. It should
be limited to the two forbidden categories of women with the least severe punishments,
which are 7wy *2°°1 and 1IX? 277, but not to include mn»3 *27m.

Mo0IN answers:
= NP TN RIN IR XTI N0y NI 27097 p1'm

And the 0"2°7 answered, that only one 199 is required to teach us, that by

21*4A 1’1}:’7 92997 there is a 01 21°1. We do not require two 272109 -
= N"PY "IN A"1A N2 W DRWNT MUKRI A0 191 2'N37T IXY 'R N1

For if the 77 n would not have written the 705 of WY 7770 X91,” which
indicates that the 0iX» should be able to (a) create a 1w TP relationship

! X7 °211 include the 711775 *190°K and AR 1Ay ,NTAR NOK, etc. Mpon is administered for transgressing
these prohibitions 7°1722.

> mn»3 *2»n include many of the family forbidden relationships such as a brother and sister, etc.

? These include *»17%1 *1¥7. The 77N states concerning a %7K *1¥» that 7 97pa o> 82 "w*ow 7. We infer
from this 105 that we can only marry a third generation >»17X1 >7%1 (one whose grandfather was 77an), but
not a first or second generation 17X *7¥n. This prohibition is derived from a permissible statement ( 7
X2’ "W ow); therefore this derived prohibition is called an mwy. There is no mp?» for transgressing this Twy.
* We use a w17 to include the less punishable first, and then continuing up the scale of punishments.

5 13,20 [®¥n] 2»127. The 770 teaches us in this 105 that the 701X should become the wife of the Dixn.
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with the 701X, and (b) that she should be fit to be kept as a wife®; were it not
for this 109, then -
= NP9 "IN N (1'270 R"12M7 TN 7390 1011379 RIP IR 1 KD

No P12 would be required to include these forbidden women; they would
be naturally included. Now however that this P09 with its implied two
restrictions is written, we require other P09 to remove these two
restrictions. Therefore, through one inclusion we can include a woman
who is not fit to be kept as a wife -

= 1M1 103 AR 173 PINY AT AW 1270 T
which refers to 7wy 521 and 18 %2%1 (who are n™p 77X PR); who are
in the same category, since they can become effectively 'nmwTipn (even if
they are Anp» XA PR)° -

- MAN™3 2a"n9 k131 TN

And the other 705 comes to include that there is a DI 21’17 by N2 520
as well, even though there cannot (even) be effective 12172 by mn»2 "27n.

mMooIN anticipates a (slight) difficulty and resolves it:

= 7D 209 81271 70 10 PINY 2TN2 70310 PITTP 'R KT NN
And according to the one who maintains that 1P27p are not effective by
91*1&‘7 s2»77; nevertheless we can still derive mn> 21, for one inclusion
would be for 2w 52977 (where she is m»p% 787 718, but 17 72 W) -

= MN™3 2" XY "21"NY 1T

And the other inclusion would be for 1R» 21 and NIN™> 3291 who both
share the same characteristic that 172 10910 217 PR (and [obviously] 72°°P% IR P'R).

mMooIn has an additional question:
= 11" 7107 718X X7 AWK 2'AN 191 PN INKN ON1

® See the ensuing NP17n» between *12°n YA and X011 12 1WA M. The P105 of AWK 7N R that it written
in DIXM NWID can teach us that the laws of 01Xn are limited to the following (two) situations; a) that 1w17p
are effective with this woman (she becomes an w°X nwX through 1Pw17p 7wWyn); and b) that he is permitted to
remain married to this woman; there is no 710°X in living with this woman [these two laws are derived
primarily from the word 77in]. Were it not for this 109, there would always be a 01 21°17 for the 01Xn,
regardless of the woman’s prohibitive status.

7 According to most 2°X1n there is 1IX? *2mM AWY 212 109N PYITR; only by MIN™3 2% is 109N PYTR PX.
¥ See W' Moo who explains as follows. The P109 of AwWK> 7N 891 excludes from 03P those woman that
172 o090 TR 1R and also those woman that are forbidden (32°°P% 1% 1°X). When we are [first] 727 [as
mooIn indicated as being appropriate] the 7wy *2°1 (who are [also] 12°°P2 PR PR), this indicates that "X
1%°P% IR is no restriction (for we are including 7wy 21 who are 12p% 187 1°X); therefore we can also
include 1187 21 who are 12°°P% 187 PR, but j72 10910 PwITp like 7wy *2>°n. We cannot however include
mn»> "2 for they have an additional difficulty, since 772 10910 Pw1TP 7'X; therefore we need the additional
7wA7T to include even NN 2.

° This would place mwy 21 (where 1w1TR are ©91n) and 1K *2°°11 (where 1°217p are not 0910) in two distinct
categories, how would we then derive nin»3 "2»n?!
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And if you will say; let the 770 remain silent and not state the 7105 of XY

mwxY 7o7n,'” and therefore these 2°12°1 will not be required." Why does the
77N first limit and then broaden the 01p 2.

madIn answers:
= NDTN AWNI a'0n 191 WITNY TI0X'RT 117 W1

And one can say; that it is necessary to state the P05 of TwWRY o770 ¥ in
order to derive from it that the ensuing marriage can only be with her

12 . e ) ;
consent . Once that P05 was written, it indicates that there is a requirement for 72 w°
7177 and 7n”PY 77IRN; therefore we have the two 2°12°7 to include that IRDY AWy °2»n
MmN 2, also receive 0Ip.

Summary
We are 1727 from one "12°7 those woman who 3732 70910 7172 but are  J1°X

1°°2% 7% and from the other M2 those woman that 3732 1°0910 PRI TR,
The 01%n may marry the 701X, only with her consent, as it is written 770 X9
TR,

Thinking it over

I. What is the underlying difference in the understanding of the X723
between the Xwp of the 0"2°7 (where M0N0 maintained that three 2°?109 are
necessary), and the y17°n of the 2"2"1 (where md01n concluded that only two
D100 are necessalry)?13

2. Why indeed does not the &7 (even) mention AWy 21 (especially if we
maintain IR *2°°12 7°091N PWITP PR)?!

' See n¥2pn ww who explains that the question is that instead of saying 7wX? 77in 891 (which excludes X
NP IR PRI 7 72), it should state 7axw. This would teach us the 17 that the DX is required to marry
the 701X, without excluding Nw°X *710°X from receiving 01p.

' mooin previously stated that were it not for the p109 of wXY 770 11 all women would receive o1p
including 121 mn>13 "27n.

"2 The word (7wX?) 77 indicates that her consent is required. See previous footnote # 9.

" See iy MR 717 N0
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